20190820 15:12:13 (GMT+09:00)

3-3. KD-55XF8*/FW-55BZ35F

Disassembly, Exploded View

Stand

121

SYS SET



20190820 15:12:13 (GMT+09:00)

3-3. KD-55XF8*/FW-55BZ35F

Screws

00 O O @

%J/EU only

Description
SCREW M3X3.0 STEP

SCREW, +PSW M5x12

SCREW, ORNAMENTAL
M6X12

SCREW, +PSW M3X6 W12
SCREW +PSW, M4x8
SCREW, +PSW M3X6

- f_. ",__ “..m — =" = .mﬂm =ln_ki+:-'§l‘-'ﬂ T
It ([g .l] D = ﬂ i
L
S -

P/N Q'ty Torque
) ) ) (J/JEU) 8 .
4-579-926-01 (Except J/EU) 7 0.5 £ 0.05 [N-m]
2-580-607-01 4 -
4-268-126-02 4 1.2 £ 0.1 [N-m]
4-256-393-12 6 0.4 £ 0.05 [N-m]
2-580-600-01 4 0.65 £ 0.1 [N'm]
4-472-518-11 20 0.4 £ 0.05 [N-m]

124
SYS SET



20190820 15:12:13 (GMT+09:00)

3-3. KD-55XF8*/FW-55BZ35F

Connector
1 1
A0 @
1 13 il
82
REF. PART NO. DESCRIPTION REMARKS REMARKS
NO.
81 1-910-806-38 HARNESS ASSY CN1000(BCH)-CN1(3M-P)-CN001(HCA)-WIFI/BT-
CN1002(BCH)/CN3201(BCH)-SP(1)

82  1-910-806-39 CONNECTOR ASSY 30P CN400(BCH)-CN6401(PSU1)-CON3(T-CON)(1)
83 1-912-529-11 FLEXIBLE FLAT CABLE 41P CN4400(BCH)-U2(T-CON)(1) KD-55XF8505/8577/8588/8599/8596/8796
83 1-912-537-11 FLEXIBLE FLAT CABLE 41P CN4400(BCH)-U2(T-CON)(1) KD-55XF8577/8596(RU3)
84 1-912-558-11 FLEXIBLE FLAT CABLE 51P CN4401(BCH)-U1(T-CON)(1) KD-55XF8505/8577/8588/8599/8596/8796
84 1-912-541-11 FLEXIBLE FLAT CABLE 51P CN4401(BCH)-U1(T-CON)(1 KD-55XF8577/8596(RU3)

125
SYS SET



